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Annie solved this calculation.

Can you spot and explain her mistake?
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Two children are solving § + =

Eva starts by drawing this model:

N [ ]

Alex starts by drawing this model:

[TTTTTTTTTTTTTT]

Can you explain each person’s method
and how they would complete the
question?

Which method do you prefer and why?
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Can you spot and explain her mistake?

Annie is wrong
because she has
just added the
numerators and
the denominators.
When adding
fractions with
different
denominators you
need to find a
common
denominator.

Two children are solving § +

Eva starts by drawing this model:

N [ ]

Alex starts by drawing this model:

[TTTTTTTTTTTTTT]

Can you explain each person’s method
and how they would complete the

question?

Which method do you prefer and why?

4

15

Possible answer:
Each child may
have started with a
different fraction in
the calculation.

eg. Eva has
started by shading
a third. She now
needs to divide
each third into five
equal parts so
there are fifteen
equal parts
altogether. Eva will

then shade - and
15

will have

9
= altogether.




